
GCSE Type Questions 

1. Put the following numbers into ascending order. 

a 7 7.01 70.1 0.0701 0.017 0.0107 7.1 17 10.7 

 

b 3 13 3.1 0.31 0.301 3.01 13.01 31.1 31.01 

 

c 26.7 76.2 62.7 7.62 2.67 0.672 0.276 276 267 

 

d 3.47 347 7.43 7.34 7.034 7.304 7.403 0.743 407 

 

e 1.89 9.81 9.18 8.19 8.91 1.98 1.089 8.091 8.901 

 

f 0.0436 0.0437 0.05 0.047 0.061 0.0053 0.02 0.00613 0.3 

 

2. Put the following numbers into order. 

 a 2
3
 30% 0.6 0.06 0.03 5

6
 70% 

 

 

 b 46% 0.43 9
20

 0.04 0.4% 4
10

 4 

 

 

 c 28% 1
4
 0.025 0.25% 0.15 1

5
 0.015  

 

 

 d 3
4
 0.7 72% 3

5
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